
1

Important: 
For customer service, technical informa  or replacement parts email:info@nwsourcing.com or call 
our toll free number for assistance 1-877-46     . Monday to Friday ,8:00am to 4:00pm)hsilgnE( 0991-0   

• 

• Do not use on wood decks or any wooden surfaces. For use on non ammable surfaces such as slate, stone, or brick.

• Not for use by children. Always keep children and pets a safe distance from the cooking pit.

  Burn WOOD logs only. DO NOT USE  for burning coal, hardwood lump charcoal, leaves or

can become extremely hot and unsafe to touch with unprotected hands. Touching any part of the exterior with unprotected

heat-resistant pad or glove when handling.

(Eastern Standard Time).

 For outdoor and household use only. Not for commercial use.

California Propostition 65
     WARNING! This product can expose you to chemicals including carbon monoxide and other combustion
byproducts known to the State of California to cause cancer and birth defects or other reproductive harm. For
more information go to: www.P65Warnings.ca.gov.

•

Outdoor Cooking Pit

ITM. / ART. 1902464
MODEL #

IMPORTANT, RETAIN FOR FUTURE
REFERENCE: READ CAREFULLY

ASSEMBLY INSTRUCTIONS

CWGS-CP22-001

Merrigay Steskal
Proofed MS 7/28/2021 comments added below

Melissa Haggard
MAH PROOFED 7/28/21



Part List 
Part Description Qty Diagram

Base

Foot

Side Screen

Front Door

Chimney 

Finial 

Chimney Cover 

Cooking Grate 

Log Rack 

Fire Bowl 

Ash Pan 

Poker 

Door Handle 

 

 

Hardware List 
Part
No. Description Qty Diagram 

1 M6x14mm Cross 
Head Bolt 24

2 M6 Nut 3

3 M6 Flange Nut  9

4  1

5 M6 Wing Nut 6 

6 M6 Wrench 1 

Back Post

Right Door Post

2

Left Door Post

    

A  1 

B  3 

C 2

1

D 1

1

E 

1 

F 

1 

G

H

1 

I

1 

J

1 

K

 

1 

L

1 

M

N

O 1 

1 P

1 

7 1 
M5x12mm Cross 

Head Bolt 

M5×25mm Flat-head
 cross screw



Step 2: Assemble Back Post ( E ), Right Door Post ( F ),Left Door Post ( G )
             to the Base ( A ).

3

A

B

1

3

6

F

5

G
5

E

5

E

G

F

G

F

Step 1: Attach the Feet ( B ) to the Base ( A ). 



Step 3: Assemble Door ( D ) with Posts ( F, G ), Screen Panels ( C ) together with
Posts ( E, F, G ).

4

E

CC

F

D

D D

1 1

1

1

1

1

G

G

G

F

C C

F

DD



5

Step 4: Attach the Chimney ( H ) to the
             assembled Door ( D ) and Screen
             Panels ( C ).

Step 6: Attach Handle ( P ) to Door ( D ).

1

2

Step 7: Attach Ash Pan ( N ) to underside of Fire Bowl ( M ). Place Log Rack ( L ) into Fire Bowl ( M ).

Step 5: Attach the Finial ( I ) to Chimney
             Cover ( J ). Place the Chimney
             Cover ( J ) onto the Chimney ( H ).  

 

 

 

 

 

P

 

N

N

L
M

 

4

HI

J
5

7  



6

MADE IN CHINA 

If cleaning is required, gently wash your cooking pit with a sponge using mild, environmentally friendly soap and 
water. Do not use bleach, chemicals, abrasive cleaners or wire brushes when cleaning your cooking pit. Do not use 

To repair any scratches, nicks or chips on the  purchase matching touch-up paint that is suitable for metal, 

Cleaning and care of the cooking grate. 
burn o . This will reduce the amount of cleaning required for the grill and inside of the cooking pit. Once the re 

and gently scrub the grat steel wool.

It is important to remove the accumulated ashes from the re bowl 

ow required for grilling.

Step 8: Insert Grill ( K ) Top into Grill Stop depending on desired height ( J ). 

Grill Top Stop

K

F



AVERTISSEMENTS : 
Vér er les règlements locaux avant d’acheter le produit. Certaines municipalités ont des restric ons et des 
exigences pa ières.  
Le foyer de cuisson est à usage 

 
Ne pas er le produit sur une terrasse ou sur des surfaces en bois.  sur des surfaces 

 telles de la pierre, des briques ou de l’ardoise. 

  
Ne pas er d’objets ou de matériaux  près du foyer. 
Les enfants ne doivent pas er le produit. Les enfants et les animaux  doivent se tenir loin du 
foyer de cuisson en tout temps. 

 le foyer avec  Lors de  la poignée et le grillage deviendront extrêmement 
chauds et pourraient blesser une main sans prote  le  ou des gants protégeant de la 
chaleur pour les manipuler. 
Ne jamais laisser le foyer de cuisson sans surveillance quand il est allumé et toujours éteindre le feu 
complètement avant de par r. 
Ne yer et sécher le produit complètement après chaque u  S’assurer de laisser les pièces refroidir 
avant de ne yer. 

7

Foyer de cuisson extérieur
MODÈLE # CWGS-CP22-001

INSTRUCTIONS D’ASSEMBLAGE

Le foyer est conçu pour brûler uniquement des bûches de BOIS. NE PAS L’UTILISER pour brûler du

ITM. / ART. 1902464

.

     IMPORTANT, À CONSERVER POUR DE FUTURS
BESOINS DE   RÉFÉRENCE : À LIRE SOIGNEUSEMENT

Proposition 65 de la Californie
AVERTISSEMENT ! Ce produit peut vous exposer à des produits chimiques, y compris le monoxyde de 

carbone et d'autres sous-produits de combustion connus dans l'État de la Californie pour causer le cancer et 
des anomalies congénitales ou autres troubles liés à la reproduction. Pour de plus amples informations : 
www.P65Warnings.ca.gov

Important:
Pour obtenir un service après-vente, des renseignements techniques ou des pièces de rechange,
écrivez à info@nwsourcing.com ou composez notre numéro sans frais 1-877-460-1990 (anglais) pour obtenir de 
l'aide. Du lundi au vendredi, de 8 h à 16 h (heure normale de l'Est)



   

Base

Cheminée

Faiteau

 

Couvercle

 

de
cheminée

  

Grille de cuisson  

Porte-bûches

 

Foyer
 

Cendrier
  

Tisonnier 

Poignée de porte 

 

Quincaillerie

   

1  
 24

2 Écrou M6 3 

3 Écrou à collerette M6   9

4  1

5 Écrou à
oreilles M6

 6 

 1  6M élC 6

Poteau latéral

 De la porte
gauche 

 De la porte
droite

Liste des pièces 
Pièce Description Qté Schéma Pièce Description  Qté Schéma 

Grillages
gauche et droit 

Grillage avant / 
porte

Boulon cruciforme
M6 x  1,4  cm 

Boulon cruciforme
M5 x 1, 2  cm 

8

A 1 

B 3 

C 2

1

D 1

1

E 

1 

F 

1 

G

H

1 

I

1 

J

1 

K

 

1 

L

1 

M

N

O 1 

1 P

1 

7 1 

Vis cruciforme à tête 
plate M5x 25 mm



A

B
1

3

6

Étape 1 : fixer les pieds ( B ) à la base ( A ). 

Étape 2 - Monter le poteau arrière ( E ),  le poteau de la porte droite ( F ),
                le poteau de la porte gauche ( G ), à la base ( A ).

9

F

5

G
5

E

5

E

G

F

E

G

F



10

Étape 3 - Monter la porte ( D ), avec les poteaux ( F, G ) et les panneaux d'écran ( C ),
                avec les poteaux ( E, F, G ).

E

CC

F

D

D D

1 1

1

1

1

1

G

G

G

F

C C

F

DD



11

Étape 5 : fixer le couvercle de cheminée ( I )
                sur la cheminée ( J ).

 

Étape 4: fixer la cheminée ( H ) à l'assemblage
               de la porte ( D ), les grillages gauche et
               droit et arrière ( C ).

Étape  : fixer la poignée ( P ) à la porte ( D ).

Étape 7 : fixer le cendrier ( N ) en dessous du foyer ( M ). Placer le
                porte-bûches ( L ) dans le foyer ( M ).

 

 

 

 

 

 

P

4

5

1

2

 

N

N

L
M

 

HI

J
5

7  



Arrêt de grille supérieure

Étape 8 - Insérer la grille supérieure sur l'arrêt de grille selon la hauteur désirée ( J ).

FABRIQUÉ EN CHINE   

 : 

Si nécessaire,  avec une éponge et une solu n d’eau et de savon écologique. Ne pas u ser d’agents 
de blanchiment, de produits chimiques, de matériaux abrasifs ou de brosse métallique pour ne yer votre 
foyer. Ne pas er de laveuse à pression. Après le  rincer à fond et laisser sécher.

Pour réparer des é gnures, des encoches ou de la peinture écaillée, se procurer de la peinture à retouches 
conçue pour le métal et qui peut être exposée aux températures extrêmes. Suivre en vement les 
sur le contenant de peinture avant d’appliquer. 

Ne ge et  de la grille de cuisson : après la cuisson, laisser brûler les résidus accumulés sur la 
grille  de réduire le temps de  de la grille et de l’intérieur du foyer. Une fois que le feu et les 

sons sont éteints et que le foyer est revenu à la température ambiante,  la grille doucement à l’aide 
d’une brosse à grille. Ne pas tenter de ne yer lorsque la grille est chaude! Laisser refroidir au préalable. Pour 
un  accru,  un détergent doux et de l’eau et gr er la grille doucement à l’aide d’une laine 
d’acier e. 

Enlèvement des cendres froides du cendrier : il est important d’enlever les cendres froides dans le cendrier. 
Ceci évitera les problèmes de circula  de l’air lors de la prochaine s  Les cendres absorbent 
I’humidité, ce qui pourrait faire rouiller prématurément le produit. 

12 

K

F



INSTRUCCIONES DE ENSAMBLE  

IMPORTADO POR:
IMPORTADORA PRIMEX, S.A. DE C.V.,

BLVD. MAGNOCENTRO NO. 4,
SAN FERNANDO LA HERRADURA, HUIXQUILUCAN, 

ESTADO DE MÉXICO, C.P. 52765
R.F.C. IPR-930907-S70  TEL. (55) 5246-5500

Información Importante:

   restricciones y requisitos.
• Esta parrilla para cocinar es para uso al aire libre solamente. No es para uso comercial.

   tales como concreto, piedra o ladrillo.

parrilla para cocinar.

parrilla para cocinar parrilla para cocinar,

   siempre use protectores resistentes al fuego o guantes cuando lo use.

• Limpie y seque el producto completamente después de cada uso. Cerciórese de que todas las partes estén
completamente frías antes de limpiar.

MODELO: CWGS-CP22-001

13

Importante:
Para servicio al cliente, información técnica o piezas de repuesto en E.U.A. envíe un correo electrónico:

info@nwsourcing.com o llame a nuestro número gratuito para asistencia 1-877-460-1990 (Ingles).
(Estados Unidos y Canadá solamente). Lunes al viernes de 8:00 a 4:00 pm Horario Oficial del Este

(Teléfono de servicio no válido en México)

ITM. / ART.1902464

IMPORTANTE: CONSERVE PARA FUTURA
  REFERENCIA. LEA CUIDADOSAMENTE

www.costco.com.mx

 Proposición 65 de California
 ADVERTENCIA: Este producto puede exponerlo a sustancias químicas, incluido el monóxido de carbono y

otros elementos combustibles, que el Estado de California reconoce como causantes de cáncer, defectos de
nacimiento u otros daños reproductivos. Para mayor información, visite www.P65Warnings.ca.gov.

•

Chimenea para Cocinar Al Aire Libre



14

   

 

   

 

 

  

   

   

1  24

2   3

3     9

4   1

5   6

6   1

       

  A 1 

B 3 

C 2

1

D 1

1

E 

1 

F 

1 

G

H

1 

I

1 

J

1 

K

 

1 

L

1 

M

N

O 1 

1 P

1 

Lista de Partes

Base

Pata

Chimenea

Pináculo

Cubierta de
Chimenea

 

Parilla para Cocinar

Rejilla para Leños 

 

Platillo para
Brasas

Recipiente para
Cenizas

Agarradera de
Puerta

   rodazitA

 

Lista de Artículos de Ferretería

 

 

Poste Posterior

Poste de
Puerta Derecha

Poste de
Puerta Izquierda

Parte Descripción Cant. Dibujo Parte Descripción Cant. Dibujo

Malla Lateral /
Izquierda y
Derecha

Malla Frontal /
Puerta

Per

r

no de Cabeza
en

n

 Cruz de 6 m

m

m x 14 mm

Tuerca de 6 mm

Tuerca de Brida
de 6 mm

Tuerca Mariposa
de 6 mm

Llave de 6 mm

7 1 
Pe no de Cabeza

e  Cruz de 5 m x 12 mm

M5 X 25 mm
Tornillo de cabeza 

plana en cruz



A

B
1

3

6

15

F

5

G
5

E

5

E

G

F

E

G

F

Paso 2:  Fije el poste posterior ( E ) poste de puerta derecha ( F ), poste
     de puerta izquierda ( G ) a la base ( A ).

Paso 1: Ensamble las patas ( B ) a la Base ( A ).



E

C

F

D

D

1 1

1

1

G

G

F

C C

F

DD

16

Paso 3: Fije la Puerta (D) con los postes (F,G), la Malla Lateral (C) junto con los postes (E,F,G)

C

D

1

1

G



Paso 6: Ensamble la Agarradera ( P ) a
              la Puerta ( D ).

Paso 7: Ensamble el Recipiente para Cenizas ( N ) a la parte de abajo del Platillo para
              Brasas ( M ). Coloque la Rejilla para Leño ( L ) en el Platillo para Brasas ( M ).

17

Paso 5: Ensamble el Pináculo ( I ) a la
                 Cubierta de la Chimenea ( J ) Coloque
                 la cubierta de la chimenea ( H ).    

Paso 4: Ensamble la chimenea (H) a la puerta
                 ensamblada (D) y las Mallas 
                 Laterales (C).

  

  

  

  

1

2

 

N

N

L
M

 

 

 

 

 

 

 

P

4

 

5

HI

J
5

7  



Tope de la Parte Superior

Paso 8:  Inserte la Parte Superior de la parrilla (K) dependiendo la altura deseada (J).

Instrucciones de cuidado: 

HECHO EN CHINA 

Si requiere de limpieza, con cuidado lave su parrilla para cocinar con una esponja usando jabón suave amigable

parrilla para cocinar.
permita que el aire lo seque. 

que coincida, que sea apta para aplicar en metal, para uso en exteriores y para altas temperaturas. Siga
cuidadosamente las instrucciones que se incluyen con la pintura.

no permita que 

una fibra

Limpieza y cuidado de la parrilla para cocinar. 

18 

K

F



19MADE IN CHINA HECHO EN CHINA FABRIQUÉ EN CHINE / /

Costco (China) Investment Co., Ltd.
Room 1003, Block 2, 2388 Xiupu Road,

Pudong New Area, Shanghai
China 201315

+86-21-6257-7065

Costco Wholesale New Zealand Limited
2 Gunton Drive

Westgate
Auckland 0814

                     New Zealand

Costco Wholesale Korea, Ltd.
40, Iljik-ro

Gwangmyeong-si
Gyeonggi-do, 14347, Korea

1899-9900
          www.costco.co.kr

Costco Wholesale Japan Ltd.
3-1-4 Ikegami-Shincho

Kawasaki-ku, Kawasaki-shi,
Kanagawa 210-0832 Japan

0570-200-800
          www.costco.co.jp

Costco France
1 avenue de Bréhat

91140 Villebon-sur-Yvette
France

01 80 45 01 10
         www.costco.fr

Costco Wholesale Iceland ehf.
Kauptún 3-7, 210 Gardabaer

Iceland
            www.costco.is

Costco Wholesale Spain S.L.U.
Polígono Empresarial Los Gavilanes

C/ Agustín de Betancourt, 17
28906 Getafe (Madrid) España

NIF: B86509460
900 111 155

                 www.costco.es

Costco Wholesale UK Ltd /
Costco Online UK Ltd

Hartspring Lane
Watford, Herts

WD25 8JS
United Kingdom
01923 213113

       www.costco.co.uk

Costco Wholesale Australia Pty Ltd
17-21 Parramatta Road
Lidcombe NSW 2141

Australia
            www.costco.com.au

Importado por:
Importadora Primex S.A. de C.V.

Blvd. Magnocentro No. 4
San Fernando La Herradura

Huixquilucan, Estado de México
C.P. 52765

RFC: IPR-930907-S70
(55)-5246-5500

www.costco.com.mx

Costco Wholesale Canada Ltd.*
415 W. Hunt Club Road

Ottawa, Ontario
K2E 1C5, Canada
1-800-463-3783
www.costco.ca

* faisant affaire au Québec sous             
le nom les Entrepôts Costco

Distributed by:
Costco Wholesale Corporation

P.O. Box 34535
Seattle, WA 98124-1535

USA
1-800-774-2678
www.costco.com

Merrigay Steskal
Sweden distro address missing. Please add: Costco Wholesale Sweden AB
Saluvägen 5
187 66 Täby
Sweden




